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0 - ()'2-73}‘2(32} (2-27a) (12) + (3-222) (23)
F (42727 (11) ¥ (5-220) (19) = 2.101L

O \[21006 = 14490
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Contfinnous BVs
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math homewor k. Lollows o Norma
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A probability olensity Conchan, s
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The fist Bejins ot (0,0) ond goes fo (1,1

The seamd. goes g (1,1) 4o (1:5,1)
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Discrete KVs
>< = the number ol
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bt Game of Chance
Tt o pla\/er colls 2 dice and
ﬂeﬁrs o sumol A or 12 Slhe wins
§20. TF the person gefs a sum of 7
slhe wins 45 The cos b 4o Pla\./
4 %% Find the C%peckél PO\\/UM.



X = @&\/M +

~——

X

$20

B

0

P(x)

L

e

36

b

e

36

L9

—

2
\

b

e —

TS the Jome Cair ¢

MX tgo(glg,)Jr 5(%})(0(%} = $1.9Y









K
W
les
o
c
K
ancl o
\
G
w bl
¢
S

Y
#/\T/Ler
@?i
48,
XJrOL

Oy
- 20"



b Lebk Y=-9X2
Tf Mx = 3, Find. M\/?

My=.a(-.2-25
j_}c GX :[”5 C)/\Jl O/\/

@7/: M) =3



I Assume Ox =20, Find
0 aod b Such Hhat Y:%Xm
hos G Standacd dewation of |

Oy =1

b (0x) = |
20b= |
b* 3
h- frﬁo\\%



2) MW:\/ = My + My
P SAT Moth Score (My;élg
\/—, ST Necbal Score (M\/: 5%)
My = My eply = 415590 - (215
MX“\/ “My- My = 25-540 = 35
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E)f 2002 AP Exam

@dﬁx\//ﬁjg\m Mean (Mile) SJ(O\(\& Dey
| H.q min 15 min
1 K. b
; {5 W
I 4.4 15




) What 15 the team's %Jra\ Mean time.
Mi=44+47+4544g = 1.9 min

2) (U\(\mi' 4 Yhe stand. dey oQ %Q JrﬁG\N\7.
DRT - (-fSY T (,I(N%— (.I"fT% (.I‘E)1 = 0402



3) gUonée the. Jearv\‘s LOCSJ( 4’({\(\@ b dale
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_ 200>
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-1.67 O

Nocmalcdf (0,194, 18.9, .3003) ~ 0479
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Binomial Se%Lm%
- 2 O(/L‘PCOWLCS (SMCC“S/«C&[[UN,)
_ P (Suceess) constant
] ﬁXeo( number of ir\a(épmo{enlr tals (M

Binemia Ronolow \a able,
Y= 4 Sneeesses



Randaw Iy Quess daswess — Ho SAT questions
l) A OULJFCUW\CS (gmccegg/%\um)
2) WSMCC@%) = . d (Cmsjmng

3) Guesses are 1'(\0&@6(\&@\%
L{) >< < %CO(NC&\’S\M?SSCS(O\M"— og L,{Od






\) Whad He \O@babi\ijr\/ ha b Y =10

a) Use L)i(\JW\\'O\\ %(mmla

Pix-k) = () P (g

POc=10) = (1) (2) (€)% 1072

i
Yo [MATH) = PRR > |
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1) Find P(X=0) e -
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%) Find P (x £ 10)
6) Focmula IY\G\C«({C[@,/\i'

P('o | 1---(10
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\o(\om\, (4o 2, |o}~ 4391
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) Find P(x210) PX<2i0)
) Focnuwla Tnelliciend
P( o 2] ( 1

P9 |
) MSC CO\ o\’b(“ o
binomed (0, .2, W)« .4392
i 9
Cumulahe

fr LK



4) Find. P (X2 10)
Cﬂ F(;\f mucloc ‘Q@‘\/ fﬂﬁgcteﬂj(/

b) Use calowlater [complerent cyle
P O< 3@ = |- bl'nom(:o{Q (LFO, A, ) % 2682
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A = 73
T = 25 o o) P



Tf B(W‘P) then
My =np = (0)a) = ¢
O;LX : V\p((»@ = (4o)l2)(<) = (.Y

O =ntaup = Voy * 2528
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Ex - Athdudes Toward %OPPM% (P216)
B (2900, 6)
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Since NP = (2500)(¢) = 1560 > 10
and 1 (1-p)= (a500) () = 1000 > [0

Hhen P(X >I6Q~O> Can. be %m(ﬁ
(/kém% o, Nofmad OLiSJ(Fi})bu%OY\.._



M=np- (2500)(.¢) =1500
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(seomeic g@%’rw&
- A Outcomes ( Suceess / Ca \U/\Q
- Plsmceess) is cmnstan &
- Obselvakoms indapenAa&
X Geometie Rondom \oriable,
X = B Jm"ak (EO\M\?& \Df.w VU
ek e lek Success



Ceomekae. oomulas

(ngr Shceess 0“\ ’\) >< },\ p &L

Th Trial
T0-p)

As the 4 ¥rials increase
e probabiliby (o the Sicsk suceess glecreases ..



8.2 The Geometric Distributions 467

EXAMPLE 8.17 ROLLA DIE

The rule for calculating geometric probabilities can be used fo construct a probability
distribution tahle for X = number of rolls of a die umtil a 3 occurs:

X 1 2 3 4 5 6 7
PX) 0.1667 0.1389 0.1157 0.0965 0.0804 0.0670 00558

Here’s one way to find these probabilities with your caleulator:

1. Enter the probability of success, 1/6. Press ENTER.
2. Enter «(5/6) and press ENTER]
3. Continue to press [ENTER] repeatedly.

1/6
. 1666666667
Ans* (5/6)
.1388BBBHAY
.1157407407
+ 0964506173
.0803755144

Verify that the entries in the second row are as shown:

X 1 2 3 4
PX) 16 536 1257216 125/1296

Figure 8.4 is a graph of the distribution of X. As you might expect, the probability
distribution histogram is strongly skewed to the right with a peak at the leftmost value,
1. It is easy to see why this must be so, since the height of each bar after the first is the
height of the previous bar times the probability of failure 1 — p. Since you're multiply-
ing the height of each bar by a number less than 1, each new bar will be shorter than
the previous bar, and hence the histogram will be right-skewed. Always.

3 F -

FIGURE B.4 Probability histogram for the geometric distribution.
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E}_‘ QOH . die ..
) Gk P (Geka 3 on bk Roll)

a) Using Féfmu,la,
P{Xn) POL : (f)(%)q B 0704

) A M CO“(C{L[&%(
ﬂﬁomﬁpo\g ) 09LH



(;) Find ¥ <Ge¥a 2 an one of st 4 ml\s)
0) bormuda Tnefficiend A
P (X 4)= P0G + P(a2) + P (%) + P (W=4)

H e Cou(@bt[ajm(‘
ﬂ@mmLcA\f (5, 1) =~ 5117



3) find. P (Takes moe than 4 olls o get a 2)
A) (/Ls(n% oronula

P (Xon) = %K ) (%)H bk

{Ag (\% Calowl 0&{’0(
?(X7Lg) | - ﬁeomfl(w\g ( )



Success/Failure

P (success) constant

Independence
Binomial Geometric
Count number of successes Count number of trials
[from a fixed number of trials needed to obtain first success
P(X=k)= (: }p“ a-p) P(success onn"™ trial)= p(1— p)*"
)
P(X = k)= binompdf (n. p, k) P(X = n)=geometpdf (p, n)

P(X < k)= binomedf (n, p, k)

X >n)=(1-p)

P(X < n)= geometedf (p, n)

H=—

[ap=10  n(1-p)=10]

MH=np
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